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1 Introduction

In the email approval after RAN1#63 meeting it was agreed that for A/N or RI with 12-20 bits transmitted on PUSCH, use RM(32,O) code with coding chain as for PUCCH format 3 but without PUCCH interleaver (32 coded bits for each block).
In this contribution, a text proposal for 36.212 is provided to reflect the conclusion with details of the coding chain.
2 Text Proposal
=====================================================================
5.2.2.6.5
Channel coding for more than 11 bits of HARQ-ACK information

The HARQ-ACK bits input to the channel coding block are denoted by 
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 is the number of bits. 

The sequences of bits 
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  are encoded as follows 
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and 
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where i = 0, 1, 2, …, 31 and the basis sequences 
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 are defined in Table 5.2.2.6.4-1.
The output bit sequence 
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 is obtained by the concatenation and circular repetition of the bit sequences 
[image: image10.wmf]31

2

1

0

~

,

,...,

~

,

~

,

~

q

q

q

q

 and 
[image: image11.wmf]31

2

1

0

~

~

,

,...,

~

~

,

~

~

,

~

~

q

q

q

q

as follows
Set i = 0

while 
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i = i + 1

end while

Set i = 0

while 
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i = i + 1

end while
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